INSTRUKCJA MONTAZU

INSTALLATION MANUAL

KONSTRUKCJE |H) Hetmaniok
NA DACH PLASKI

Flat roof structures

KONSTRUKCJA
DO MONTAZU ===
ALOWNIKA

WOLNOSTOJACA

Structure for mounting the inverter, free-standing

e ———

g 1111111

VAN BN B B B A B B B A

|

F 010100111

g0 000000011111

F 10001
r s 11001011

r 111000001011

f

[ |

¥
IV I it r 101911

V1111100001019 11

T A B A B B B |
V1100009079 91 ¢

F1 v 0000000090991

© W&H Sp.zo.o. 0 48794530721 = biuro@hetmaniok.pl 1S0 9001
EN ISO 1090 1
ul. Kosciuszki 49, 48575530 721 » www.hetmaniok.pl EN1SO 3834 2

44 351 Turza Slaska



B

INSTRUKCJA MONTAZU

INSTALLATION MANUAL

1. MONTAZ PODSTAWY STOJAKA (H) Hetmaniok

Assembling the stand base I‘
J
|

Sruba M10x25mm

M10x25mm screw

Nakretka M10

M10 nut
Przykre¢ po dwa pionowe profile do poziomej podstawy stojaka Screw two vertical profiles to the horizontal base of the standusing four M10x25mm screws and M10 nuts.
za pomocg czterech srub M10x25mm i nakretek M10. Profile Profiles turn towards you as shown above.

odwrd¢ do siebie jak pokazano powyzej.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

2. MONTAZ BLACH

Sheet metal mounting.

Sruba M10x25mm

M10x25mm screw

Nakretka M10
M10 nut

Przykre¢ blachy perforowane wktadajac je pomiedzy pionowe profile za pomoca
czterech $rub M10x25mm i nakretek M10 z kazdej strony.

| I U T I R B O B

|HJ Hetmaniok

l
I
l
l
l
l
I

| I W N L L R R B B B A
| I U U I I I I B B
LI N T I R I I B
tririrrrrroonndl
LI T T O I I B R A O AN
RN ENE RN
NN NN NN
NN NN NN
LR R N B R
NN NN NN NN
Anunnnunu
AN NN NN NN
LU I T I I B I R I B B B RN B )

Screw the perforated sheets by inserting them between the vertical profiles
using four M10x25mm screws and M10 nuts on each side.




INSTRUKCJA MONTAZU

INSTALLATION MANUAL

3. MONTAZ ZASTRZALOW |HJ Hetmaniok

Installation of struts

Sruba M10x25mm

M10x25mm screw

! 'I‘lI...I‘l:;’

LT O STy “

Nakretka M10

M10 nut

Wewnatrz proﬁ|(')w podstawy i pionowego zamontuj po dwa zastrzaty Install two braces inside the base and vertical profilesscrewing them with M10x25mm screws and M10 nuts.

przykrecajgc je srubami M10x25mm i nakretkami M10.



L2 4. MONTAZ WSPORNIKOW BLACHY (H) Hetmaniok

Installation of sheet metal supports

=
P
=
z
o
=
<
by ]
(3]
X
=)
[+
o i
= .
< Wkret samowiercacy 4,2x19mm
, = s ~
< = '~ ~
S e self-drilling screw 4,2x19mm N NS
= i ~ N 7
s = -~
z N ey
S & ~ [
= N K7 A
i(‘ ’ ~ e «
— ~ { ~
S ~ - D
<2} ~ N
Z N Nl g
. ~ >
N S
o D
N -~ D
\ N
NN
N

Sruba M10x25mm

M10x25mm screw

Nakretka M10

M10 nut

Przykre¢ wporniki blachy w gdérnej czesci profili pionowych za pomoca Screw the sheet metal supports to the top of the vertical profiles using

dwdch $rub M10x25mm i nakretek M10. Drugi koniec Wspornika two M10x25mm screws and M10 nuts. The other end of the brackets tiffen
it with a 4.2x19mm self-drilling screw from the top of the sheet metal.

usztywnij za pomoca wkreta samowiercgcego 4,2x19mm przykrecajgc go
od goéry blachy.



5. MONTAZ BLACH BALASTOWYCH

M10 nut

n . i. JA \ \4’.
CNERNNNNIYY A
PITI S I L0t rsyy
NNy

|H) Hetmaniok
Nakretka M10

Sruba M10x25mm
M10x25mm screw

=5
M 3 s Ay

_____-__aagag%
BN ]
1Lt 01111
F1HLLoe000010111
F1rr000001111
L1100 100010111
| I B O B B B N |
NN NNERNRNN
RERERERRRRERNN
NERERERRRRRERY
EERREERRRERRN:
NERRERRRRRRN
R EERE R
R EEERN

Installation of ballast sheets

NZVYLNOW VIrIOMNYLSNI  7vnnvin NOILY TTVLSNI

Screw the ballast sheets to the inner part of the base profile using M10x25mm screws

and M10 nuts and load with concrete blocks.

filu podstawy

b M10x25mm i nakretek M10 i obcigz bloczkami betonowymi.

Przykre¢ blachy balastowe do wewnetrznej czesci pro

7

za pomoca $ru



	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6

